Paskjutsbroms
EG-nr: 21.2.4.1.0.0039

PAV/SR 2,0 MX

@

1

Pos Bendmning

Best.nr

Antal

Pos Bendmning

18
17

Best.nrx

Q=1 G WM

Kulkoppling

Skruv M12

Skruv M12

Mutter M12
Stoppklack

Balg

Spannband
Bussning, framre
Bussning, bakre
Smorjnippel, inslag
Mutter M14
Plastlock

Hylsa

Skruv M14x85
Bricka

Lasmutter M12
Svangningsdampare

Se avsnitt kulkoppl
Se avsnitt kulkoppl
Se avsnitt kulkoppl
10.02.5215.14.82
10.03.060.03.25.0
10.03.130.08.15.0
10.02.3310.04.00
10.08.030.12.97.0
10.038.030.12.96.0
10.02.6850.22.00
10.02.5215.19.82
10.03.211.02.04.0
10.03.302.21.75.0
10.02.5022.07.82
10.03.320.11.14.0
10.02.5215.14.82
10.02.3722.25.00

1
1
1
2
1
1
1
1
1
2
1
1
1
1
1
1
1

17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33

Spannstift
Tryckstang
Havarm

Gaffel M10
Bult

Bricka
Saxpinne

Faste

Bricka
Fjadermagasin
Handbromsspak
Handtag
Lagringsbult
Bricka

10.02.6016.05.90
10.05.399.64.16.0
10.05.190.38.24.0
10.03.171.02.41.0
10.02.5829.21.30
10.02.5450.53.04
10.02.6201.35.03
10.05.189.41.50.0
10.02.5450.63.00
10.05.397.68.49.0
10.05.203.03.17.0
10.02.1404.05.00
10.03.177.11.31.0
10.02.5401.19.04

Katastrofwire kpl inkl. 32,33 10.05.327.00.06.0

Karbinhake
Brytring

10.02.1804.03.00
10.03.310.71.07.0

11



